FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK

Test Data

Page 1 of 14



FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK
1. Fundamental & Spurious Emission & Restrict band radiated emission

Horizontal
30-1000MHz

Level [dBuV/m]

95
90 X

80

70

60 X

50 <

40

30 X

20

10 30M 50M 70M 100M 200M  300M 500M 700M 1G

Frequency [Hz]

x MES ak0529 H1 red
MES ak0529 H1 pre
—LIM FCC15F 3 QP Field Strength QP
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FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK

Restrict band

Level [dBuV/m]
80

70

60

50

40

30

20

10

399.9M 402M 404M 406M 408M 410M
Frequency [Hz]

MES ak0529_IH_pre
—LIM FCC15F 3 QP Field Strength QP
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FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK

1000-5000MHz

Level [dBuV/m]
80
70
60 X
X
) X
50 X X
40 « X
X
30
20
10
0
1G 1.5G 2G 2.5G 3G 3.5G 4G 456G
Frequency [Hz]
x  MES ak0529 HH_ red
MES ak0529 HH_pre
—LIM FCC15F 3 QP Field Strength QP
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FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK

Vertical
30-1000MHz

Level [dBuV/m]
95

80

70

60

50

40

20

10

0
30M 50M 70M 100M 200M  300M 500M 700M 1G
Frequency [Hz]

X  MES ak0529 V1 red
MES ak0529 V1 pre
—LIM FCC15F3QP Field Strength QP
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FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK

Restrict band

Level [dBuVv/m]
80

70

60

50

40

30

20

10

0
399.9M 402M 404M 406M 408M 410M
Frequency [Hz]

MES ak0529 VL_pre
——LIM FCC15F3 QP Field Strength QP
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FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK

1000-5000MHz

Level [dBuV/m]
80
70
60 X y X X
50 1
X
40 [ X X
X
30
20
10
0
1G 1.5G 2G 2.5G 3G 3.5G 4G 4.5G
Frequency [Hz]
x  MES ak0529 VV_red
MES ak0529 VV_pre
—LIM FCC15F3 QP Field Strength QP
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FCC ID: VBA-EF300TK

Intertek IC: 7098A-EF300TK

2. Deactivating time

® RBW 100 kHz Delta 1 [T1 ]
VBW 300 kHz -36.34 4B
Ref 110 dBuv Att 10 dB SWT 7 = T728.700000 ms
110 Offpet 15|dB Marker| 1 [T1
76.B5 dBuv
100 1 anohog g
/27 I
80—
A
e e
70
60
50
L
MJ:N}JI-MJ.':M i TIPS NOF r .ﬁ.alul...u.l\.n. Mogha A "M&ww“%
30
20
10
Center 433.92 MH=z 700 ms/

Date: 6.JUN.2012 12:11:40
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Intertek

3. Emission bandwidth

® Ref 95 ¢

FCC ID: VBA-EF300TK
IC: 7098A-EF300TK

*RBW 10 kHz

-4
H
R
==
T

q‘ww 3DE

Date: 26.JUN.2012 16:00:14

*RBW 10 kHz

-4
H
R
==
T

80 kHz/ Span 800 kE:z
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FCC ID: VBA-EF300TK

Intertek IC: 7098A-EF300TK

4. Occupied bandwidth

<§§> RBW 100 kHz Marker 1 [T1 ]
WBW 300 kHz 89.3833 dBuvV
Ref 110 dBuv Att 10 dB SWT 2.5 ms 433.980000000 MH=Z
110 Offpet 15|dB OBwW  2].040000p00 MH=Z
Temp 1| [T1 OBY]
100 5107 JEy
432 940000p00 MHZ
T zl [T1 oBW]
(=21
== |, p P

I o bR
434.980000p00 MH=Z

\4 W
v

Row T~

10

Center 433.98 MH=z 1 MH=z/ Span 10 MH=

Date: ©.JUN.2012 11:53:09
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FCC ID: VBA-EF300TK

Intertek IC: 7098A-EF300TK

5. Duty Cycle

Pulse train of “on” key

® RBW 1 MHz Delta 1 [T1 ]
VBW 3 MHz 0.19 4B
Ref 20 dBm Att 35 dB SWT 200 ms 92.492500 ms
20 Marker| 1 [T1
~14L54 dBm
10 S _CO0OR0O0
&L |,
- 10 T T
[ r
o
Q
L O
H+EFO
L eIn) AT THLT APANUR A I o A o Vg
- 60
- 70
-80
Center 433.92 MH=z 20 ms/

Date: 24.JUL.2012 16:38:01
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FCC ID: VBA-EF300TK

Intertek IC: 7098A-EF300TK

Pulse train of “off” key

<$>'

REBW 1 MHz Delta 1 [T1 ]
VBW 3 MHz -0.37 4B
Ref 20 dBm Att 35 dB SWT 200 ms 92.892500 ms
20 Marker| 1 [T1
12184 dBm
10 s 2oahon o
el

- 10 =+

Wt 0l S e NG o O s L AL AT hoid

- 70

-80

Center 433.92 MH=z 20 ms/

Date: 24.JUL.2012 16:39:30
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FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK

Dwell time of one pulse

® RBW 1 MH=z Delta 1 [T1 ]
WBW 3 MH=z -18.41 dB
Ref 20 dBm Att 35 dB SWT 5 ms 982.500000 s
20 Marker| 1 [T1
-18L12 dBm
10 oo oo nhnn 1
B |,
--10
|
y N

F-20

- 30

F-40

- 50

i

- 70

-80

Center 433.92 MH=z 500 ps/

Date: 24.JUL.2012 16:29:53
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FCC ID: VBA-EF300TK
Intertek IC: 7098A-EF300TK
® RBW 1 MH=z Delta 1 [T1 ]
YVBW 3 MHz —-43.27 dB
Ref 20 dBm Attt 35 dB SWT 5 ms 492.500000 ns
20 Marker| 1 [T1
—18L21 4dBm
T |,
&

F-20

- 30

F-40

- 50

i ‘

- 70

-B0

Center 433.92 MH=z 500 psa/

Date: 24.JUL.2012 16:30:16

The Duty cycle of keys was assessed as below:

Duty cycle of “on” key = (10*0.98+ 15*0.49) / 92.49 = 0.185
Duty cycle of “off” key =(9*0.98 + 16*0.49) / 92.89 = 0.179
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